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1.	
  Since	
  2010,	
  two	
  teams	
  have	
  14	
  regular	
  season	
  
wins	
  in	
  which	
  they	
  trailed	
  at	
  the	
  end	
  of	
  the	
  third	
  
quarter.	
  	
  No	
  other	
  team	
  has	
  more	
  than	
  nine.	
  	
  
Name	
  these	
  two	
  come-­‐from-­‐behind	
  teams.	
  
a)	
  49ers	
  and	
  Patriots	
  
b)	
  Packers	
  and	
  Seahawks	
  
c)	
  Lions	
  and	
  Cardinals	
  
d)	
  Browns	
  and	
  Ravens	
  
e)	
  Dolphins	
  and	
  Bills	
  
	
  
2.	
  	
  Since	
  November	
  2006,	
  this	
  team	
  is	
  undefeated	
  
at	
  home	
  when	
  they	
  did	
  not	
  throw	
  an	
  interception,	
  
going	
  a	
  perfect	
  25-­‐0.	
  	
  Name	
  this	
  team.	
  
a)	
  Cardinals	
  
b)	
  Packers	
  
c)	
  Patriots	
  
d)	
  Broncos	
  
e)	
  Saints	
  
	
  
3.	
  	
  Since	
  the	
  start	
  of	
  the	
  2006	
  season,	
  there	
  is	
  only	
  
one	
  team	
  in	
  the	
  league	
  that	
  is	
  below	
  500	
  in	
  games	
  
in	
  which	
  they	
  did	
  not	
  throw	
  an	
  interception.	
  	
  
Name	
  this	
  team.	
  
a)	
  Raiders	
  
b)	
  Jaguars	
  
c)	
  Titans	
  
d)	
  Bills	
  
e)	
  Lions	
  
	
  
4.	
  	
  Since	
  New	
  Year’s	
  2005,	
  there	
  is	
  only	
  one	
  team	
  
in	
  the	
  league	
  that	
  has	
  not	
  lost	
  when	
  they	
  have	
  a	
  
100-­‐yard	
  rusher.	
  	
  Name	
  this	
  team.	
  
a)	
  Patriots	
  
b)	
  Steelers	
  
c)	
  Packers	
  
d)	
  Saints	
  
e)	
  Dolphins	
  
	
  
5.	
  	
  Since	
  the	
  start	
  of	
  the	
  2005	
  season,	
  this	
  team	
  is	
  
winless	
  when	
  the	
  pass	
  for	
  300-­‐plus	
  yards	
  and	
  
rush	
  for	
  less	
  than	
  200	
  yards,	
  going	
  0-­‐17.	
  	
  Name	
  
this	
  team.	
  
a)	
  Browns	
  
b)	
  Vikings	
  
c)	
  Lions	
  
d)	
  Raiders	
  
e)	
  Buccaneers	
  

6.	
  	
  Which	
  team	
  has	
  the	
  longest	
  current	
  winning	
  
streak	
  when	
  they	
  have	
  a	
  takeaway	
  margin	
  of	
  at	
  
least	
  plus	
  two?	
  
a)	
  Broncos	
  
b)	
  Bills	
  
c)	
  Eagles	
  
d)	
  Patriots	
  
e)	
  Cowboys	
  
	
  
7.	
  	
  Which	
  is	
  the	
  only	
  team	
  in	
  the	
  league	
  that	
  has	
  
not	
  had	
  a	
  single	
  game	
  since	
  the	
  start	
  of	
  the	
  2010	
  
season	
  in	
  which	
  they	
  had	
  more	
  rushing	
  yards	
  
than	
  passing	
  yards?	
  
a)	
  Jaguars	
  
b)	
  Raiders	
  
c)	
  Saints	
  
d)	
  Buccaneers	
  
e)	
  Lions	
  
	
  
8.	
  	
  In	
  the	
  history	
  of	
  the	
  database,	
  there	
  have	
  been	
  
only	
  two	
  occurrences	
  of	
  a	
  team	
  having	
  more	
  
penalty	
  yards	
  that	
  total	
  yards	
  of	
  offense	
  and	
  it	
  
was	
  the	
  same	
  team.	
  	
  Name	
  this	
  team.	
  
a)	
  Browns	
  
b)	
  Jaguars	
  
c)	
  Titans	
  
d)	
  49ers	
  
e)	
  Colts	
  
	
  
9.	
  	
  There	
  is	
  only	
  one	
  game	
  in	
  the	
  database	
  in	
  
which	
  a	
  team	
  scored	
  four	
  non-­‐offensive	
  
touchdowns.	
  	
  Name	
  the	
  team	
  that	
  accomplished	
  
this	
  feat.	
  
a)	
  Packers	
  
b)	
  Broncos	
  
c)	
  Steelers	
  
d)	
  Eagles	
  
e)	
  Titans	
  
	
  
10.	
  	
  What	
  is	
  the	
  greatest	
  number	
  of	
  points	
  scored	
  
by	
  a	
  team	
  without	
  converting	
  a	
  single	
  third	
  down	
  
attempt	
  (going	
  0-­‐6)?	
  
a)	
  34	
  
b)	
  37	
  
c)	
  40	
  
d)	
  44	
  
e)	
  48	
  

	
  
Answers on-line at: 
http://sdqlconsultancy.com/category/sdql-worksheets/nfl-worksheets/nfl-worksheet-1-4/ 


